(362)
Lines 4x. xb, whofe Squares together thall be equal
to the Square given gg.

Le axb whofe height is xy bethe Triangle required.
Bifect 26 in m and draw mx. '
ANALT S 1S

Let therefore , axa -+ xbx = gg
But by the 13¢4.0f the Introd. 4x4 - xbX = 2ama-+2mxm
Therefore gg = 2ama ~+2mxm

or —2ama=2mxm
Therefore the Problem is folv’d , but the Length of mx
being given and not its.Pofition, it is evident that it
may be the Semidiameter of a Circle whofe Circumfe-
rence {hall be the Locus of the point x.

"Conftruction and Demonfiration.

From the Square givén gg Subtract the double Square
of 2m , the Square root of half the remainder fhall be
the line mx; with the Ceanter » and diftance mx, de-
{cribe the Circle pxd, 1 (ay that any point ‘x taken in its
Circumference refolves the Problem.

- For fince the doyble of the Squares of 4z and xm is
cqual to the Square gg, by the Conftruction, and by the
131h. Propofition of the Introduction to the Squaressx
and x6: The two Sguares ax and x4 rogether will be
equal to the Square gg. Which was to be dene.
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